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WE Have THUS Preven Row 2 AND 3 of THE SUMMARYTABUE . Prove ROW
1 AND 4 AS AN Exercise .

Exercise :# 1 : CB AMRIUFIER
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2
. IDENTIFY B-NETWORK Rst Rekall1
3 . Build THE 2-PORT MODEL OF f- NETWORK fm
4

. REPCACE THE -NETWORK WITH THE 2- PCRT MODEL

5
. Save Circuit IN OPEN LOCP CONDITIONS 13=0 8=0

6
. Derive GOSED LOOP QUANT'TTES APPLYINIG THEORY

7
.

"

ADJUST
"

RESULTS TO FIND TARGET QUANTITIES

1
.
Circuit Inspection SHOWS THE Circuit IS PROBÌNG CORINI .



INPUT MIXING is AGAIN CURRENT TYPE (Shortino ltpeklkl'S FEEDBACK)

Conclusion : CB STAGE CAN BE CONSIDERED A CASE OF CURRENT ANRIFÌER .
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OPTIONAL : Discussioni OF UNICATERALITY
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G. APPLY FEEDBACK THEORY TO DERIVE GOSED Loop OWANTITIES
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EXERCISE # 2 : CER ANLRIFIER
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APPLYING FEEDBACK THEORY WE SEE THAT

INPUT Mixing is VOLTAGE TYPE SERIES THEVENIN

CUTPUT SENSING IS CURRENT TYPE SERIEB THEVENIN

CER IS A CASE of TRANSCONDUCTANCE Amritsar !
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UnilateraliTY ASSUMPTION IS WER POSED !
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GOSED LOOP PARAMETERS
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Rat = (Raft - E) ✗ Re = Re AGAIN
,
as usual .

ONCE AGAIN
,
THE application OF FEEDBACK THEORY PRADES

THE SANE Results of DIRECT Circuit ANALYSIS .


